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Berechne folgende Determinanten mittels des Entwicklungssatzes von Laplace 

 

�1 1 02 −5 14 3 1� = 
−5 13 1
 − 
2 14 1
 = ��−5
 · 1 − 1 · 3� − �2 · 1 − 1 · 4�
= −8 + 2 = −6 

 

� 2 0 5−3 2 41 0 9� = 2 · 
2 51 9
 = 2 · �2 · 9 − 5 · 1� = 2 · 13 = 26 

 

�1 7 02 8 54 6 0� = −5 · 
1 74 6
 = �−5
 · �1 · 6 − 7 · 4� = �−5
 · �−22
 = 110 

 

�1 2 31 3 41 4 5� = 
3 44 5
 − 
2 34 5
 + 
2 33 4

= �3 · 5 − 4 · 4� − �2 · 5 − 3 · 4� + �2 · 4 − 3 · 3� = −1 + 2 − 1= 0 

 

�1 6 71 0 38 −3 5� = − 
 6 7−3 5
 − 3 · 
1 68 −3

= −�6 · 5 − 7 · �−3
� − 3�1 · �−3
 − 6 · 8� = −51 − 3 · �−51
= 102 

 

�1 −1 12 4 83 5 3� = 
4 85 3
 + 
2 83 3
 + 
2 43 5

= �4 · 3 − 8 · 5� + �2 · 3 − 8 · 3� + �2 · 5 − 4 · 3�= −28 − 18 − 2 = −48 

 


